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Question ID : 63068043260

Status : Answered
Chosen Option : 3
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Question ID : 63068043031
Status : Answered
Chosen Option : 4
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Question ID : 63068042277
Status : Answered
Chosen Option : 1
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Question ID : 63068039028
Status : Answered
Chosen Option : 2
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Ans L 28 A&SST 1950
2. 31 WTRI 1955
3. 20 HIT 1955

4 30 W% 1950

Question ID : 63068046096
Status : Answered
Chosen Option : 2

Q.6 As per the Companies (Amendment) Act, 2020, after Section 378 of the principal Act,
Chapter has been inserted.

Ans o 1. XXIA

Xo2.xl
3. XXA

K 4. XX

Question ID : 63068043370
Status : Answered
Chosen Option : 1
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Question ID : 63068043159
Status : Answered
Chosen Option : 2

Q.8 Statutory Liquidity Ratio of RBI in July 2020 was:
Ans X 1.15%

o 2.18%
X3.20%
K 4.14%

Question ID : 63068021781
Status : Answered
Chosen Option : 4
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Question ID : 63068046094
Status : Answered
Chosen Option : 1
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Question ID : 63068042215
Status : Answered
Chosen Option : 3

Q.11 The process by which the oceanic lithosphere is recycled into the Earth's mantle at
convergent boundaries is called:

Ans X 1. Subsidence
2 2. Deformation
«" 3. Subduction

& 4. Folding

Question ID : 63068043460
Status : Answered
Chosen Option : 4

Q.12 The theory that held that diseases such as cholera, chlamydia, Plague etc were caused by
pollution or a noxious form of "*bad air**, also known as "*night air’* and that diseases were the
product of environmental factors is:

Ans 25 1. Germ Theory of Disease
" 2. The Miasma Theory
25 3. The Theory of Contagion
2 4. The Theory of Humor

Question ID : 63068043430
Status : Answered
Chosen Option : 4
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Question ID : 63068043037
Status : Answered
Chosen Option : 1
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Question ID : 63068042974
Status : Answered
Chosen Option : 4

Q.15 Which of the following rivers has its origin in south-western Tibet?Ans
o 1 Sutlej

X 2. Beas

2 3. Jhelum

X 4. Ravi

Question ID : 63068043135
Status : Answered
Chosen Option : 1

Q.16 Who has won the best actor award at the New York City International Film Festival in May2021?
Ans 5 1. Nivin Pauly

2 2. Rana Daggubati

25 3. Akshay Kumar

" 4. Anupam Kher

Quesﬂen !D . 62062042202
Status : Answered
Chosen Option : 3
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Question ID : 63068043438
Status : Answered
Chosen Option : 3
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Question ID : 63068043354
Status : Answered
Chosen Option : 2

Q.19 Domestic incident report is filed under which of the following laws?Ans
4" 1. Protection of Women from Domestic Violence Act, 2005

25 2. Criminal Procedure Code, 1973
25 3. Indian Penal Code, 1860
X 4. Dowry Prohibition Act, 1961

Question ID : 63068043273
Status : Answered
Chosen Option : 1




Q20 figrzd Mirews wie Mifes aFe © 55 7S fE stz famr A, fom = ufge yors Hoe il
I & T famr A

Ans 11918
X 21908
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X 41921

Question ID : 63068043004
Status : Answered
Chosen Option : 2
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Question ID : 63068043414
Status : Answered
Chosen Option : 3

Q.22 The Gram Panchayats work under the supervision of the

Ans 1. Gram Sabha
2% 2. Zila Parishad
2 3. State Government

& 4. Block Officer

Question ID : 63068046114
Status : Answered
Chosen Option : 4

Q.23 The beliefs by Muslims that a male member from the family of Prophet Muhammad willappear in
every era to strengthen Islam are known as:

Ans  &# 1. Mahdawi ideas
25 2. Tablighi ideas
25 3. Bahawi ideas
25 4. Chenghesis ideas

Question ID : 63068021751
Status : Answered
Chosen Option : 1




Q.24 The President of India laid the foundation stone for the conservation works of SingorgarhFort.
Which of the following is correct regarding this fort?
1. It is situated in Uttar Pradesh.
11. 1t is a UNESCO world heritage site.

Ans X 1.0nlyl
" 2. Neither I nor II

25 3.Both land 11

& 4.0nlyll

Question ID : 63068042144
Status : Answered
Chosen Option : 2

Q.25 Which of the following pairs of amendment act of the Constitution of India and its objectiveis
INCORRECT?

Ans & 1.101st Amendment Act — Introduced the Goods and Services Tax
25 2.99th Amendment Act — Formation of a National Judicial Appointments Commission
25 3.92nd Amendment Act — Include Bodo, Dogri, Santali and Mathili as official languages

" 4.103rd Amendment Act — Land Boundary Agreement (LBA) between India and
Bangladesh

Question ID : 63068021806
Status : Answered
Chosen Option : 4
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Question ID : 63068020527
Status : Answered
Chosen Option : 2

Q.27 With respect to the Indian constitution which of the following statements is true regardingthe
Union Territories?
1. Part VIII of Indian constitution is related with the Union Territories.
11. Article 240 of the Indian constitution is related with the power of President to make
regulations for certain Union territories.
I11.Article 241 is related with the high courts for Union territories.

Ans & 1.1, 1land I
X 2. 11and I
X 3. 1and 11
X4 1and 1

Question ID : 63068046238
Status : Answered
Chosen Option : 4
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Question ID : 63068046087
Status : Answered
Chosen Option : 3

Question ID : 63068026515
Status : Answered
Chosen Option : 4

Q.30 Setting up of a museum reflecting the culture and heritage of the people living in char-chaporis
has stirred up a controversy in which state?

Ans X 1.Jharkhand
2. Sikkim
& 3. Assam

X 4. Karnataka

Question ID : 63068042114
Status : Answered
Chosen Option : 1
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Question ID : 63068042276
Status : Answered
Chosen Option : 4
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Question ID : 63068021720
Status : Not Answered
Chosen Option : --
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Question ID : 63068039113
Status : Not Answered
Chosen Option : --
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Question 1D : 63068043090
Status : Answered
Chosen Option : 4
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Question ID : 63068044159
Status : Not Answered
Chosen Option : --




Q.36 The Rock Shelters of Bhimbetka are closely associated with:
Ans 25 1.templeto Lord Indra

25 2. a farming economy
#< 3. school of rock carving established in ancient times

" 4. ahunting and gathering economy

Question ID : 63068039376
Status : Not Answered
Chosen Option : --
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Question ID : 63068039016
Status : Answered
Chosen Option : 4
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Question ID : 63068021777
Status : Answered
Chosen Option : 4
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Question ID : 63068043203
Status : Answered
Chosen Option : 1




Q.40 The Kamyaab Kisan Khushaal Punjab (K3P) scheme was announced by which of the
following CMs?

Ans X 1. Harcharan Singh Brar
< 2. Surjit Singh Barnala
2 3. Beant Singh

" 4. Amarinder Singh

Question ID : 63068043115
Status : Answered
Chosen Option : 4

Q.41 In which of the following districts of Uttarakhand, a massive glacial burst was reported in
February 2021?

Ans & 1. Chamoli
2% 2. Tehri Garhwal
< 3. Uttarkashi

25 4. Rudraprayag

Question ID : 63068042230
Status : Answered
Chosen Option : 3

Q.42 Vishaka & Ors. v. State of Rajasthan & Ors (1997) 6 SCC 241 is a landmark judgement on:

Ans & 1.domestic violence

X 2. dowry

«# 3. sexual harassment at the workplace

& 4. rape

Question ID : 63068043275
Status : Answered
Chosen Option : 3
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Question ID : 63068042150
Status : Not Answered
Chosen Option : --
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Ans 11880
21870
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Question ID : 63068021164
Status : Not Answered
Chosen Option : --

Q.45 In which of the following years did Sufi teacher Khwaja Qutbuddin Bakhtiyar Kaki die?
Ans X 1.1325

2 2.1265
« 3.1235
2 4.1356

Question ID : 63068040071
Status : Answered
Chosen Option : 4

Q.46 In which year was the constitution of India amended for the first time? Ans
25 1.1960

o 2.1951
25 3.1956
75 4.1954

Question ID : 63068021795
Status : Answered
Chosen Option : 2

Q.47 The "kanjari*, a Punjabi folk instrument, is a type of:
Ans X 1.Stringed instrument

7% 2. Keyboard instrument
& 3.Drum
75 4. Flute

Question ID : 63068043082
Status : Answered
Chosen Option : 3
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Question ID : 63068043007
Status : Not Answered
Chosen Option : --
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Question ID : 63068039049
Status : Not Answered
Chosen Option : --

Q.50 In constitution of India which of the following pair of chapter — constituents is correct?
I. Chapter 5, Part 6 — The high courts in the states
11. Chapter 5, Part 5 — The union judiciary

Ans £ 1.Bothland Il

" 2.0nly |
25 3. Neither I nor 1

X 4.0nlyll

Question ID : 63068043532
Status : Answered
Chosen Option : 1
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Question 1D : 63068042519
Status : Answered
Chosen Option : 2
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Question ID : 63068026747
Status : Not Answered
Chosen Option : --
Q.53 The number 567846 is NOT divisible by .
Ans X 1.3
5 2.6
5 3.2
o 4.4
Question ID : 63068040110
Status : Answered
Chosen Option : 4




Q54 What is the area of a regular hexagon with each side of it being 2v/3 cm long?

A X1 943 cm?
2. 274/3 cm?
3 1843 cm?
4.124/3 cm?

Question ID : 63068040484
Status : Not Answered
Chosen Option : --

Q.55 The average cost of all the mobiles in a shop is 50,000. The average cost of 5 brand-X mobiles is 70,000 and the
average cost of the rest is 40,000. What is the total number of mobiles in the shop?

Ans 120
v2 15
316

4. 18

Question ID : 63068041164
Status : Not Answered
Chosen Option : --
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Question ID : 63068040572
Status : Answered
Chosen Option : 1
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Question ID : 63068042691
Status : Not Answered
Chosen Option : --
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Ans 1. 3155
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Question ID : 63068041204
Status : Answered
Chosen Option : 4

Q59 AggA+B+C = 1053, B A B3 Wt w3 B, c It I, 3T c T HB U™ 31
Ans 1. 32
2. 65
3. 56
« 4 60

Question ID : 63068042688
Status : Answered
Chosen Option : 4

Q.60 If C.I and S.I had a difference of $38 on a sum and the sum of the C.I and S.1 is $160, thenwhat
would be the product of the C.I and S.1? [Give the numerical value.]

Ans X 1.6076
< 2.6036
X 3.6067
o 4.6039

Question ID : 63068042624
Status : Answered
Chosen Option : 2
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Ans 1. 33,500
2. 32,500
3. 33,000
4. 32,000

Question ID : 63068041367
Status : Not Answered
Chosen Option : --
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Ans o1 9.11%
2.10%
3.9.32%
4.9.82%

Question ID : 63068042547
Status : Answered
Chosen Option : 2
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Question ID : 63068042674
Status : Answered
Chosen Option : 1

Q64 The square root of (8 +v/39) (8 —V/39) is:
Ans X1 6

25

X3 9

Xa T

Question ID : 63068040397
Status : Not Answered
Chosen Option : --
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Question ID : 63068031422
Status : Not Answered
Chosen Option : --
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Question ID : 63068040720
Status : Not Answered
Chosen Option : --
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Question ID : 63068042510
Status : Answered
Chosen Option : 4
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Ans o1 1:18
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Q.71 The average of all odd natural numbers upto and including 49 is
Ans o 1.25

X 2.50
5 3.28
X 4.26
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Question ID : 63068040976
Status : Answered
Chosen Option : 4
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Question ID : 63068040326
Status : Not Answered
Chosen Option : --

Q70 (4x + 1):2 = (x + 3):5 T AHS-WEII &5 'x' T wiom3 18 uzr 331

Question ID : 63068040252
Status : Answered
Chosen Option : 1

Question ID : 63068042642
Status : Answered
Chosen Option : 1
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Ans 1. 38,000

2. 35,800
3. 8,800
4. 38,500
Question ID : 63068040601
Status : Answered
Chosen Option : 1
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Question ID : 63068026869
Status : Answered
Chosen Option : 1

%™ 0.5 x 0.5+ 0.5 - 0.5 faA & SI=g I7

Ans & 1.0.25
2.0.625
3. 0.5
4.0.05

Question ID : 63068040713
Status : Not Answered
Chosen Option : --

Q75 sygedmorsHessuduz T I v TR o L ks Sud nz sed I AyFidessuo i
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Ans 1. 5,536.25
2. L,L36.25
3. 5,226.25
4. 4,226.25

Question ID : 63068041156
Status : Not Answered
Chosen Option : --
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X2 2225
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Question ID : 63068040606
Status : Not Answered
Chosen Option : --

Question ID : 63068040363
Status : Not Answered
Chosen Option : --

Q.78  vMfyw ¥ =g Ofta=t 31 fom = UfHY, 10 cm ST WS 4 cm SIS TH Witz D ufgHy 3 Soe 31 Fa9
i W Saa = fowR, =991 € g9 <t 898 @ SOy 3, 3 forer uforry fida (em f&9) 3892 [n= 22/7 &

Question ID : 63068042660
Status : Not Answered
Chosen Option : --
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Question ID : 63068041114
Status : Not Answered
Chosen Option : --

Q80 F=ret 5 m 78 cm W3 BTH 3 m 7L cm TV TIN BY HgSl TITAI M o f6GEIH At T 37

Ans 1. 126
« 2 187
3. 156
4178
Question 1D : 63068026726
Status : Not Answered
Chosen Option : --
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Question ID : 63068043782
Status : Answered
Chosen Option : 1
Q.82

Question ID : 63068043772
Status : Answered
Chosen Option : 2
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Question ID : 63068043965
Status : Answered
Chosen Option : 3
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Question ID : 63068043957
Status : Answered
Chosen Option : 3
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Question ID : 63068043894
Status : Answered
Chosen Option : 1
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Question ID : 63068043955
Status : Answered
Chosen Option : 3
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Question ID : 63068044008
Status : Answered
Chosen Option : 1

Question ID : 63068043753
Status : Answered
Chosen Option : 3
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